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English MCQ Pdf for AFCAT 1 2023 
 

Directions (1-10): In the following questions, 

some part of the sentence may have errors. Find 

out which part of the sentence has an error and 

select the appropriate option. If a sentence is 

free from error, select ‘No Error’. 

 

Q1. We are yet starting (A)/ offering this facility to 

our customers as we are (B)/ awaiting approval 

from the Board. (C)/ No error. (D) 

(a) A 

(b) B  

(c) C 

(d) D 

 

Q2. The Chairmen of all large public-sector banks 

met with (A)/ senior RBI officials to give its (B)/ 

suggestions about implementing the new policy. 

(C)/ No error. (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q3. They have not fully considered (A)/ the impact 

that relaxing these guidelines is likely (B)/ to have 

with the economy. (C)/ No error. (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q4. He advised me to do as he did (A) / but I did not 

pay any attention (B) / to his advice. (C) / No Error. 

(D)  

(a) A  

(b) B 

(c) C 

(d) D 

 

Q5. There are many insurance (A)/ disputes now-

a-days because of most people do not fully (B)/ 

understand the terms and conditions of their 

policies. (C)/ No error. (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q6. He was prevented to accept the assignment 

(A)/ because he was a government employee (B)/ 

and as such barred from accepting such 

assignments. (C)/ No error (D) 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q7. Lieutenant Animesh was short and muscular 

(A)/ with shoulders that bulged impressively (B)/ 

against his smart uniform. (C)/ No error (D)  

(a) A 

(b) B 

(c) C 

(d) D 
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Q8. She was with (A) / me until now, so don’t 
rebuke her (B) / for getting late. (C) / No Error. (D) 
(a) A  
(b) B  
(c) C 
(d) D 
 
Q9. In view of the fact that almost (A)/ all varieties 
of rural games and sports (B)/ are fast gaining 
national importance it is desired that the rules of 
such games are strictly adhered. (C)/ No error (D)  
(a) A 
(b) B 
(c) C 

(d) D 
 
Q10. When the thief broke into their house (A)/ 
they raised a hue and cry (B)/ and the thief caught 
immediately by the people. (C)/ No error (D) 
(a) A 
(b) B 
(c) C 
(d) D 
 
Q11. Surekha was trying for admission in the 
Engineering college(A)/ even though her parents 
wanted(B) / her to take up medicine. (C)/No error 
(D) 
(a) A 
(b) B 
(c) C 
(d) D 
 
Q12. There is no book (A)/in English language (B)/ 
which is as interesting as this. (C)/No error (D) 
(a) A 
(b) B 
(c) C 
(d) D 
 
Q13. There was a number of conferences (A)/ 

which produced little(B)/of practical value. (C)/No 
error (D) 
(a) A 
(b) B 
(c) C 
(d) D 
 

Q14. The secretary and trustee (A) / were not 

present at today’s meeting which was very 

important (B) / for all the staff members (C) / No 

error (D). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q15. Most of the money allocated for the 

beautification of Delhi (A) / for the Commonwealth 

Games (B) / were misused and embezzled. (C)/No 

error (D). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q16. The minister along with (A) / his officials have 

been a warm (B) / welcome by the party workers. 

(C)/ No error (D). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q17. The number of the accidents (A) / are 

increasing day by day so it has become obligatory 

(B) / to educate people and teach them the 

importance of safe driving.(C) / No error (D). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q18. The confused and over confident 

mathematician tried to prove (A) / that five and five 

are (B) / not ten and he tried to prove it but we 

proved him wrong. (C) / No error (D). 

(a) A 

(b) B 

(c) C 

(d) D 
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Q19. Bargaining with the shopkeepers (A) / was 

her (B) / special expertise. (C) / No error (I)). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Q20. Never we have seen (A) / such wide variety of 

books (B) / as I have seen in this library. (C) / No 

error (D). 

(a) A 

(b) B 

(c) C 

(d) D 

 

Directions (21-25): In the following passage, 

some of the words have been left out. Read the 

passage carefully and select the correct answer 

for the given blank out of the four alternatives. 

We must remember that we cannot create a 

draconian state _________ order to end corruption. 

The moral transformation of civil society must be 

__________ and based on persuasive leadership. A 

___________ definition of a sustainable lifestyle must 

be voluntarily accepted. Only _________ will the 

competitive urge to make more and more money 

end. Money should become meaningful, moral and 

deeply _____________. If true wealth is found in a rich 

heart, no one will want to touch money even with a 

barge pole. 

 

Q21. Draconian state _________ order to end 

corruption. 

(a) into 

(b) so 

(c) in 

(d) for 

 

Q22. Society must be __________ and based 

onpersuasive leadership. 

(a) nature 

(b) natural 

(c) naturally 

(d) naturism 

 

Q23. A ___________ definition of a sustainable 

lifestylemust be voluntarily accepted. 

(a) clearly 

(b) clarity 

(c) clarification 

(d) clear 

 

Q24. Only _________ will the competitive urgeto 

make more and more money end. 

(a) than 

(b) thus 

(c) so 

(d) then 

 

Q25. Money should become meaningful, moral and 

deeply _____________.  

(a) satisfy 

(b) satisfaction 

(c) to satisfy 

(d) satisfying 

 

Directions (26-30): In the following passage 

there are blank spaces. Find the right choice 

from the given alternatives. Each blank number 

corresponds to same numbered questions. 

 

When both myths and counter-myths occur in the 

narrative field of a society, people can _______ the 

oppositions between them in unique ways. The 

psychological relevance of stories in the cases of 

myths and horror films may be in the experiencing 

of the ____ _____ binary tensions, rather than in the 

manifest _____________ of the story. The tensions in 

the story is, however, __________through the binary 

contrasts. The message conveyed is a____________ 

complex. 

 

Q26. When both myths and counter-myths occur in 

the narrative field of a society, people can______. 

(a) internalize 

(b) externalize 

(c) concretize 

(d) secularize 
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Q27. The psychological relevance of stories in the 
cases of myths and horror films may be in the 
experiencing of the______ binary tensions 
(a) overlying 
(b) destructive 
(c) comforting 
(d) underlying 
 
Q28. rather than in the manifest______ of the story. 
(a) relay 
(b) education 
(c) content 
(d) morality 
 
Q29. The tensions in the story is, however, _____ 
through the binary contrasts. 
(a) dissolved 
(b) dissipated 
(c) opposed 
(d) maintained 
 
Q30. The message conveyed is a_____ complex. 
(a) holistic 
(b) constructive 
(c) difficult 
(d) prolific 
 
Directions (31-35): In the following passage 
some words have been deleted. Fill in the 
blanks with the help of the alternatives given. 
Select the most appropriate option for each 
blank.  
 
One day, a selfish fox ________ (31) a stork for dinner. 
Stork was very happy with the invitation – she 
reached the fox’s home on time and knocked at the 
door with her long beak. The fox took her to the 
dinner table and served some soup in shallow 
bowls for both of them. As the bowl was too _______ 
(32) for the stork, she couldn’t have soup at all. But 
the fox licked up his soup quickly. 
The stork was angry and upset, but she didn’t show 
her anger and behaved _________(33). To teach a 
lesson to the fox, she then invited him for dinner the 
next day. She too served soup, but this time the 
soup was served in two tall narrow vases. The stork 
_________ (34) the soup from her vase, but the fox 
couldn’t drink any of it because of his narrow neck. 
The fox _________ (35) his mistake and went home 
famished. 
 

Q31. One day, a selfish fox ________ a stork for 

dinner. Stork was very happy with the invitation – 

she reached the fox’s home on time and knocked at 

the door with her long beak. 

(a) Asking 

(b) Call 

(c) Invited 

(d) Arranged 

 

Q32. The fox took her to the dinner table and 

served some soup in shallow bowls for both of 

them. As the bowl was too ______ for the stork, 

(a) Deep 

(b) Long 

(c) Small 

(d) Shallow 

 

Q33. The stork was angry and upset, but she didn’t 

show her anger and behaved _________. 

(a) Politely 

(b) Quickly 

(c) Boldly 

(d) Happily 

 

Q34. The stork _________ the soup from her vase, but 

the fox couldn’t drink any of it because of his 

narrow neck. 

(a) Saved 

(b) Wasted 

(c) Devoured 

(d) Collected 
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Q35. The fox _________ his mistake and went home 

famished. 

(a) Ignored 

(b) Realized 

(c) Remembered 

(d) Forgotten 

 

Directions (36-40): In the following passage 

some words have been deleted. Fill in the 

blanks with the help of the alternatives given. 

Select the most appropriate option for each 

blank.  

 

A farmer looking for a source of water for his 

farm__________ (36) a well from his neighbour. The 

neighbour was cunning, though, and refused to let 

the farmer take water from the well. On asking why, 

he replied, “I sold the well to you, not the water”, 

and walked away. The __________ (37) farmer didn’t 

know what to do. So, he went to Birbal, a clever man 

and one of the nine courtiers of Emperor Akbar, for 

a __________ (38). 

The emperor called the farmer and his neighbour 

and asked why the man was not letting the farmer 

draw water from the well. The cunning man said 

the same thing again, “I sold the well, not the water. 

So, he cannot take my water”. 

To this, Birbal replied, “All that sounds fine to me. 

But if you have sold the water and the water is 

yours, then you have no business keeping your 

water in his well. Remove the water or use it all up 

___________ (39). If not, the water will belong to the 

owner of the well”. Realizing that he’s been tricked 

and taught his lesson, the man ___________ (40) and 

left. 

 

Q36. A farmer looking for a source of water for his 

farm__________ a well from his neighbour. 

(a) Bought 

(b) Offered 

(c) Purchased 

(d) Utilized 

 

Q37. The __________farmer didn’t know what to do. 

So, he went to Birbal, a clever man and one of the 

nine courtiers of Emperor Akbar, 

(a) Aggressive 

(b) Distraught 

(c) Opportune 

(d) Joyful 

 

Q38. for a __________. 

(a) Solution 

(b) Conclusion 

(c) Miracle 

(d) Resolution 

 

Q39. But if you have sold the water and the water 

is yours, then you have no business keeping your 

water in his well. Remove the water or use it all up 

___________. 

(a) Permanently 

(b) Freely 

(c) Completely 

(d) Immediately 

 

Q40. If not, the water will belong to the owner of 

the well”. Realizing that he’s been tricked and 

taught his lesson, the man ___________ and left. 

(a) Confessed 

(b) Enlightened 

(c) Apologized 

(d) Punished 

 

Directions (41-45): In the following passage 

some words have been deleted. Fill in the 

blanks with the help of the alternatives given. 

Select the most appropriate option for each 

blank.  

 

Q41. A boy named Raj was upset __________ (1) he 

had done poorly in his English test. He was sitting 

in his room when his grandmother came and 

comforted him. His grandmother sat beside him 

and gave him a pencil. Raj looked at his grandma 

puzzled, and said he didn’t ___________ (2) a pencil 

after his performance in the test. 
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His grandma explained, “You can learn many things 

from this pencil because it is just like you. It 

______________ (3) a painful sharpening, just the way 

you have experienced the pain of not doing well on 

your test. However, it will help you be a better 

student. Just as all the good that comes from the 

pencil is from within itself, you will also find the 

strength to overcome this hurdle. And ___________ 

(4), just as this pencil will make its mark on any 

surface, you too shall leave your mark on anything 

you choose to.” Raj was immediately consoled and 

___________ (5) himself that he would do better. 

(a) Thus 

(b) After 

(c) Hence 

(d) Because 

 

Q42. A boy named Raj was upset __________ (1) he 

had done poorly in his English test. He was sitting 

in his room when his grandmother came and 

comforted him. His grandmother sat beside him 

and gave him a pencil. Raj looked at his grandma 

puzzled, and said he didn’t ___________ (2) a pencil 

after his performance in the test. 

His grandma explained, “You can learn many things 

from this pencil because it is just like you. It 

______________ (3) a painful sharpening, just the way 

you have experienced the pain of not doing well on 

your test. However, it will help you be a better 

student. Just as all the good that comes from the 

pencil is from within itself, you will also find the 

strength to overcome this hurdle. And ___________ 

(4), just as this pencil will make its mark on any 

surface, you too shall leave your mark on anything 

you choose to.” Raj was immediately consoled and 

___________ (5) himself that he would do better. 

(a) Deserve 

(b) Need 

(c) Want 

(d) Expect 

 

Q43. A boy named Raj was upset __________ (1) he 
had done poorly in his English test. He was sitting 
in his room when his grandmother came and 
comforted him. His grandmother sat beside him 
and gave him a pencil. Raj looked at his grandma 
puzzled, and said he didn’t ___________ (2) a pencil 
after his performance in the test. 
His grandma explained, “You can learn many things 
from this pencil because it is just like you. It 
______________ (3) a painful sharpening, just the way 
you have experienced the pain of not doing well on 
your test. However, it will help you be a better 
student. Just as all the good that comes from the 
pencil is from within itself, you will also find the 

strength to overcome this hurdle. And ___________ 
(4), just as this pencil will make its mark on any 
surface, you too shall leave your mark on anything 
you choose to.” Raj was immediately consoled and 
___________ (5) himself that he would do better. 
(a) Requires 
(b) Experiences 
(c) Experience 
(d) Required 
 
Q44. A boy named Raj was upset __________ (1) he 
had done poorly in his English test. He was sitting 
in his room when his grandmother came and 
comforted him. His grandmother sat beside him 
and gave him a pencil. Raj looked at his grandma 
puzzled, and said he didn’t ___________ (2) a pencil 
after his performance in the test. 
His grandma explained, “You can learn many things 
from this pencil because it is just like you. It 
______________ (3) a painful sharpening, just the way 
you have experienced the pain of not doing well on 
your test. However, it will help you be a better 
student. Just as all the good that comes from the 
pencil is from within itself, you will also find the 
strength to overcome this hurdle. And ___________ 
(4), just as this pencil will make its mark on any 
surface, you too shall leave your mark on anything 

you choose to.” Raj was immediately consoled and 
___________ (5) himself that he would do better. 
(a) Usually 
(b) Initially 
(c) Practically 
(d) Finally 
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Q45. A boy named Raj was upset __________ (1) he 

had done poorly in his English test. He was sitting 

in his room when his grandmother came and 

comforted him. His grandmother sat beside him 

and gave him a pencil. Raj looked at his grandma 

puzzled, and said he didn’t ___________ (2) a pencil 

after his performance in the test. 

His grandma explained, “You can learn many things 

from this pencil because it is just like you. It 

______________ (3) a painful sharpening, just the way 

you have experienced the pain of not doing well on 

your test. However, it will help you be a better 

student. Just as all the good that comes from the 

pencil is from within itself, you will also find the 

strength to overcome this hurdle. And ___________ 

(4), just as this pencil will make its mark on any 

surface, you too shall leave your mark on anything 

you choose to.” Raj was immediately consoled and 

___________ (5) himself that he would do better. 

(a) Believed 

(b) Decides 

(c) Promised 

(d) Determine 

 

Directions (46-50): In the following passage 

some words have been deleted. Fill in the 

blanks with the help of the alternatives given. 

Select the most appropriate option for each 

blank.  

 

Q46. A farmer looking for a source of water for his 

farm__________ (6) a well from his neighbour. The 

neighbour was cunning, though, and refused to let 

the farmer take water from the well. On asking why, 

he replied, “I sold the well to you, not the water”, 

and walked away. The __________ (7) farmer didn’t 

know what to do. So, he went to Birbal, a clever man 

and one of the nine courtiers of Emperor Akbar, for 

a __________ (8). 

The emperor called the farmer and his neighbour 

and asked why the man was not letting the farmer 

draw water from the well. The cunning man said 

the same thing again, “I sold the well, not the water. 

So, he cannot take my water”. 

To this, Birbal replied, “All that sounds fine to me. 
But if you have sold the water and the water is 
yours, then you have no business keeping your 
water in his well. Remove the water or use it all up 
___________ (9). If not, the water will belong to the 
owner of the well”. Realizing that he’s been tricked 
and taught his lesson, the man ___________ (10) and 
left. 
(a) Bought 
(b) Offered 
(c) Purchased 
(d) Utilized 
 
Q47. A farmer looking for a source of water for his 
farm__________ (6) a well from his neighbour. The 
neighbour was cunning, though, and refused to let 
the farmer take water from the well. On asking why, 
he replied, “I sold the well to you, not the water”, 
and walked away. The __________ (7) farmer didn’t 
know what to do. So, he went to Birbal, a clever man 
and one of the nine courtiers of Emperor Akbar, for 
a __________ (8). 
The emperor called the farmer and his neighbour 
and asked why the man was not letting the farmer 
draw water from the well. The cunning man said 
the same thing again, “I sold the well, not the water. 
So, he cannot take my water”. 
To this, Birbal replied, “All that sounds fine to me. 
But if you have sold the water and the water is 
yours, then you have no business keeping your 
water in his well. Remove the water or use it all up 
___________ (9). If not, the water will belong to the 
owner of the well”. Realizing that he’s been tricked 
and taught his lesson, the man ___________ (10) and 
left. 
(a) Aggressive 
(b) Distraught 
(c) Opportune 
(d) Joyful 
 
Q48. A farmer looking for a source of water for his 
farm__________ (6) a well from his neighbour. The 
neighbour was cunning, though, and refused to let 
the farmer take water from the well. On asking why, 
he replied, “I sold the well to you, not the water”, 
and walked away. The __________ (7) farmer didn’t 
know what to do. So, he went to Birbal, a clever man 
and one of the nine courtiers of Emperor Akbar, for 
a __________ (8). 
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The emperor called the farmer and his neighbour 

and asked why the man was not letting the farmer 

draw water from the well. The cunning man said 

the same thing again, “I sold the well, not the water. 

So, he cannot take my water”. 

To this, Birbal replied, “All that sounds fine to me. 

But if you have sold the water and the water is 

yours, then you have no business keeping your 

water in his well. Remove the water or use it all up 

___________ (9). If not, the water will belong to the 

owner of the well”. Realizing that he’s been tricked 

and taught his lesson, the man ___________ (10) and 

left. 

(a) Solution 

(b) Conclusion 

(c) Miracle 

(d) Resolution 

 

Q49. A farmer looking for a source of water for his 

farm__________ (6) a well from his neighbour. The 

neighbour was cunning, though, and refused to let 

the farmer take water from the well. On asking why, 

he replied, “I sold the well to you, not the water”, 

and walked away. The __________ (7) farmer didn’t 

know what to do. So, he went to Birbal, a clever man 

and one of the nine courtiers of Emperor Akbar, for 

a __________ (8). 

The emperor called the farmer and his neighbour 

and asked why the man was not letting the farmer 

draw water from the well. The cunning man said 

the same thing again, “I sold the well, not the water. 

So, he cannot take my water”. 

To this, Birbal replied, “All that sounds fine to me. 

But if you have sold the water and the water is 

yours, then you have no business keeping your 

water in his well. Remove the water or use it all up 

___________ (9). If not, the water will belong to the 

owner of the well”. Realizing that he’s been tricked 

and taught his lesson, the man ___________ (10) and 

left. 

(a) Permanently 

(b) Freely 

(c) Completely 

(d) Immediately 

 

Q50. A farmer looking for a source of water for his 

farm__________ (6) a well from his neighbour. The 

neighbour was cunning, though, and refused to let 

the farmer take water from the well. On asking why, 

he replied, “I sold the well to you, not the water”, 

and walked away. The __________ (7) farmer didn’t 

know what to do. So, he went to Birbal, a clever man 

and one of the nine courtiers of Emperor Akbar, for 

a __________ (8). 

The emperor called the farmer and his neighbour 

and asked why the man was not letting the farmer 

draw water from the well. The cunning man said 

the same thing again, “I sold the well, not the water. 

So, he cannot take my water”. 

To this, Birbal replied, “All that sounds fine to me. 

But if you have sold the water and the water is 

yours, then you have no business keeping your 

water in his well. Remove the water or use it all up 

___________ (9). If not, the water will belong to the 

owner of the well”. Realizing that he’s been tricked 

and taught his lesson, the man ___________ (10) and 

left. 

(a) Confessed 

(b) Enlightened 

(c) Apologized 

(d) Punished 

 

Directions (51-55): In the following passage 

some words have been deleted. Fill in the 

blanks with the help of the alternatives given. 

Select the most appropriate option for each 

blank. 

There was a girl named Rajani who lived with her 

mother and father in a village. One day, her father 

___________ (51) her a simple task. He took three 

vessels filled with boiling water. He placed an egg in 

one vessel, a potato in the second vessel, and some 

tea leaves in the third vessel. He asked Rajani to 

keep an eye on the vessels for about ten to fifteen 

minutes __________ (52) the three ingredients in 

three separate vessels boiled. After the said time, he 

asked Rajani to peel the potato and egg, and strain 

the tea leaves. Rajani was left ________ (53) – she 

understood her father was trying to explain her 

something, but she didn’t know what it was. 
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Her father explained, “All three items were put in 
the same ___________. (54) See how they’ve 
responded differently.” He said that the potato 
turned soft, the egg turned hard, and the tea leaves 
changed the colour and taste of the water. He 
further said, “We are all like one of these items. 
When _________ (55) calls, we respond exactly the 
way they do. Now, are you a potato, an egg, or tea 
leaves?” 
 
Q51. One day, her father ___________ her a simple 
task. He took three vessels filled with boiling water. 
(a) Designated 
(b) Assigned 
(c) Intended 
(d) Accomplished 
 
Q52. He asked Rajani to keep an eye on the vessels 
for about ten to fifteen minutes __________ the three 
ingredients in three separate vessels boiled. 
(a) When 
(b) After 
(c) Unless 
(d) While 
 
Q53. After the said time, he asked Rajani to peel the 
potato and egg, and strain the tea leaves. Rajani was 
left ________ – she understood her father was trying 
to explain her something, but she didn’t know what 
it was. 
(a) Puzzled 
(b) Enlightened 
(c) Dejected 
(d) Confident 
 
Q54. Her father explained, “All three items were 
put in the same ___________.  
(a) Intentions 
(b) Scenario 
(c) Circumstances 
(d) Intents 
 
Q55. When _________ calls, we respond exactly the 
way they do. Now, are you a potato, an egg, or tea 
leaves?” 
(a) Adversity 
(b) Tragedy 
(c) Suffering 
(d) Problems 
 

Directions (56-60): In the following passage 

some words have been deleted. Fill in the 

blanks with the help of the alternatives given. 

Select the most appropriate option for each 

blank. 

 

A slave, ill-treated by his master, runs away to the 

forest. There he comes ________ (56) a lion in pain 

because of a thorn in his paw. The slave _______ (57) 

goes forward and removes the thorn gently. The 

lion without hurting him goes away. Some days 

later, the slave’s master comes hunting to the forest 

and catches many animals and cages them. The 

slave is ______ (58) by the masters’ men who catch 

him and bring him to the cruel master. The master 

asks for the slave to be thrown into the lion’s cage. 

The slave is __________ (59) his death in the cage 

when he realizes that it is the same lion that he had 

helped. The slave ________ (60) the lion and all other 

caged animals. 

 

Q56. There he comes ________ a lion in pain because 

of a thorn in his paw.  

(a) Through 

(b) From 

(c) Across 

(d) Against 

 

Q57. The slave _______ goes forward and removes 

the thorn gently. 

(a) Angrily 

(b) Happily 

(c) Eagerly 

(d) Bravely 

 

Q58. The slave is ______ by the masters’ men who 

catch him and bring him to the cruel master. 

(a) Watched 

(b) Spotted 

(c) Observed 

(d) Hunted 
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Q59. The master asks for the slave to be thrown 

into the lion’s cage. The slave is __________ his death 

in the cage when he realizes that it is the same lion 

that he had helped. 

(a) Expressing 

(b) Visualizing 

(c) Confronting 

(d) Awaiting 

 

Q60. The slave ________ the lion and all other caged 

animals. 

(a) Helped  

(b) Guided 

(c) Rescued 

(d) Bought 
 

 
 

Solutions 
 

S1. Ans.(a) 

Sol. It should be ‘we are yet to start’. Here, the 

sentence shows an action to be happened in future.  

To show the intention we need to use “To +V1”. 

 

S2. Ans.(b) 

Sol. Use ‘their’ in place of ‘its’. For plural noun 

‘Chairmen’, there should be a plural form of 

pronoun only.  

 

S3. Ans.(c) 

Sol. Use ‘on’ in place of ‘with’. Usually preposition 

on/upon is used after impact.  

 

S4. Ans.(d) 

Sol. There is no error in the given statement.  

 

S5. Ans.(b) 

Sol. Remove ‘of’. Its use is superfluous as 

subordinate clause follows. For example- He could 

not attend the meeting because he was ill.  

 

S6. Ans.(a) 

Sol. Use ‘from accepting’ in place of ‘to accept’. 

Prevent takes preposition “from” with it. 

 

S7. Ans.(d) 

 

S8. Ans.(a) 

Sol. Use ‘has been’ in place of ‘was’. ‘Until now’ 

directs towards the usage of Perfect Tense.  

 

S9. Ans.(d) 
Sol. No error 

 

S10. Ans.(c) 

Sol. Add ‘was’ before ‘caught’. Sentence should be 
in passive thus “was” will be used before ‘caught’. 

 

S11. Ans.(a) 

Sol. Replace ‘in the’ with ‘to an’. (Admission to an 
institution.) 

 

S12. Ans.(a) 

Sol. After ‘no’ use ‘other’, There is “no other book”. 

As the comparison is being done. 
Thus, the structure is “no other + noun(singular) + 

……. + so/as+ positive degree adjective + as + 

noun/pronoun. 

 
S13. Ans.(a) 

Sol. Use ‘were’ in place of ‘was’. As “a number” takes 

plural verb with it and it is treated as plural subject 

and “there” is introductory subject thus it will take 
verb according to the main subject which is “a 

number of”. Thus “were” should be used instead of 

“was” 
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S14. Ans.(b) 
Sol. Change ‘were’ into ‘was’. ‘The secretary and 
trustee’ is a singular subject with two posts. 
 
S15. Ans.(c) 
Sol. Change ‘were’ into ‘was’. Money is an un 
countable noun. Hence it will take singular verb. 
 
S16. Ans.(b) 
Sol. Change ‘have’ into ‘has’. When ‘along with’ joins 
two subjects, the verb agrees with the 1st subject. 
 
S17. Ans.(b) 
Sol. Change ‘are’ into ‘is’. “The number of” takes 

singular verb. 
 
S18. Ans.(d) 
Sol. No error 
 
S19. Ans.(c) 
Sol. Remove ‘special’. The word special’ becomes 
superfluous with ‘expertise’ 
 
S20. Ans.(a) 
Sol. Put ‘have’ before ‘we’. Negative introductory 
sentences are followed by inversion. 
 
S21. Ans.(c) 
Sol. ‘In order to’ is the correct usage. 
 
S22. Ans.(b) 
Sol. Natural: in accordance with the nature of, or 
circumstances surrounding, someone or 
something. Hence option B is correct. 
 
S23. Ans.(d) 
Sol. An adjective is required here. Hence ‘clear’ 
which means ‘easy to perceive, understand, or 
interpret’ is the correct choice. 
 
S24. Ans.(d) 

Sol. Only then implies ‘only at that time’. 
 
S25. Ans.(d) 
Sol. Adjective ‘satisfying’ which means ‘giving 
fulfillment or the pleasure associated with this’ is 
the correct choice. 
 

S26. Ans.(a) 
 
S27. Ans.(d) 
 
S28. Ans.(c) 
 
S29. Ans.(d)  
 
S30. Ans.(a) 
 
S31. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be in the blank is, ‘Invited’. 
As per the context of the passage the word `Invited’ 

fits in properly & hence it is the correct choice. 
 
S32. Ans.(d) 
Sol. The correct answer is option d. 
The word that can be in the blank is, ‘Shallow’. 
As per the context of the passage the word ‘Shallow’ 
fits in properly & hence it is the correct choice. 
 
S33. Ans.(a) 
Sol. The correct answer is option a. 
The word that can be in the blank is, ‘Politely.’ 
As per the context of the passage the word ̀ Politely’ 
fits in properly & hence it is the correct choice. 
 
S34. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be in the blank is, ‘Devoured’ 
As per the context of the passage the word ` 
Devoured’ fits in properly & hence it is the correct 
choice. 
 
S35. Ans.(b) 
Sol. The correct answer is option b. 
The word that can be in the blank is, ‘Realized’. 
As per the context of the passage the word 
`Realized’ fits in properly & hence it is the correct 
choice. 

 
S36. Ans.(a) 
Sol. The correct answer is option a. 
The word that can be in the blank is, ‘Bought’. 
As per the context of the passage the word `Bought’ 
fits in properly & hence it is the correct choice. 
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S37. Ans.(b) 

Sol. The correct answer is option b. 

The word that can be in the blank is, ‘Distraught’. 

As per the context of the passage the word 

`Distraught’ fits in properly & hence it is the correct 

choice. 

 

S38. Ans.(a) 

Sol. The correct answer is option a. 

The word that can be in the blank is, ‘Solution’. 

As per the context of the passage the word 

`Solution’ fits in properly & hence it is the correct 

choice. 

 

S39. Ans.(d) 

Sol. The correct answer is option d. 

The word that can be in the blank is, ‘Immediately’.  

As per the context of the passage the word ` 

Immediately’ fits in properly & hence it is the 

correct choice. 

 

S40. Ans.(c) 

Sol. The correct answer is option c. 

The word that can be in the blank is, ‘Apologized’.  

As per the context of the passage the word 

`Apologized’ fits in properly & hence it is the correct 

choice. 

 

S41. Ans.(d) 

Sol. The correct answer is option d. 

The word that can be filled in the blank is `Because’. 

As per the context, the word `Because’ fits in very 

well & hence, it is the correct choice. 

 

S42. Ans.(a) 

Sol. The correct answer is option a. 

The word that can be filled in the blank is ‘Deserve’. 

As per the context, the word `Deserve’ fits in very 

well & hence, it is the correct choice. 

 

S43. Ans.(b) 

Sol. The correct answer is option b. 

The word that can be filled in the blank is 

`Experiences.’ 

As per the context, the word `Experiences’ fits in 

very well & hence, it is the correct choice. 

 

S44. Ans.(d) 
Sol. The correct answer is option d. 
The word that can be filled in the blank is `Finally’. 
As per the context, the word `Finally’ fits in very 
well & hence, it is the correct 
choice. 
 
S45. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be filled in the blank is 
`Promised’. 
As per the context, the word `Promised’ fits in very 
well & hence, it is the correct choice. 
 

S46. Ans.(a) 
Sol. The correct answer is option a. 
The word that can be in the blank is, ‘Bought’. 
As per the context of the passage the word `Bought’ 
fits in properly & hence it is the correct choice. 
 
S47. Ans.(b) 
Sol. The correct answer is option b. 
The word that can be in the blank is, ‘Distraught’. 
As per the context of the passage the word 
`Distraught’ fits in properly & hence it is the correct 
choice. 
 
S48. Ans.(a) 
Sol. The correct answer is option a. 
The word that can be in the blank is, ‘Solution’. 
As per the context of the passage the word 
`Solution’ fits in properly & hence it is the correct 
choice. 
 
S49. Ans.(d) 
Sol. The correct answer is option d. 
The word that can be in the blank is, ‘Immediately’.  
As per the context of the passage the word ` 
Immediately’ fits in properly & hence it is the 
correct choice. 
 

S50. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be in the blank is, ‘Apologized’.  
As per the context of the passage the word 
`Apologized’ fits in properly & hence it is the correct 
choice. 
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S51. Ans.(b) 
Sol. The correct answer is option b. 
The word that can be in the blank is, ‘Assigned’. 
As per the context of the passage the word 
`Assigned’ fits in properly & hence it is the correct 
choice. 
 
S52. Ans.(d) 
Sol. The correct answer is option d. 
The word that can be in the blank is, ‘While’. 
As per the context of the passage the word ` While’ 
fits in properly & hence it is the correct choice. 
 
S53. Ans.(a) 
Sol. The correct answer is option a. 
The word that can be in the blank is, ‘Puzzled.’ 
As per the context of the passage the word ̀ Puzzled’ 
fits in properly & hence it is the correct choice. 
 
S54. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be in the blank is, 
‘Circumstances’ 
As per the context of the passage the word 
`Circumstances’ fits in properly & hence it is the 
correct choice. 
 
S55. Ans.(a) 
Sol. The correct answer is option a. 
The word that can be in the blank is, ‘Adversity’. 
As per the context of the passage the word 
`Adversity’ fits in properly & hence it is the correct 
choice. 
 
S56. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be filled in the blank is, ‘across.’ 
Across – it is a preposition which means, ‘to find or 
meet.’ 
Also ‘Come Across’ is a phrasal verb & it means 
meet or find someone or something by chance. 
Remaining options are grammatically & 
contextually incorrect & hence are not the correct 
choice. 
 

S57. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be filled in the blank is, ‘bravely.’ 
As per the context of the passage the word ‘bravely’ 
fits in very well & hence is the correct choice. 
 
S58. Ans.(b) 
Sol. The correct answer is option b. 
The word that can be filled in the blank is, ‘spotted.’ 
Spotted - see, notice, or recognize (someone or 
something) that is difficult to detect or that one is 
searching for. 
Remaining options are grammatically & 
contextually incorrect & hence are not the correct 
choice. 
 
S59. Ans.(d) 
Sol. The correct answer is option d. 
The word that can be filled in the blank is, 
‘awaiting.’ 
Awaiting - wait for (an event). 
As per the context of the passage the word 
‘awaiting’ fits in very well & hence is the correct 
choice. 
 
S60. Ans.(c) 
Sol. The correct answer is option c. 
The word that can be filled in the blank is, ‘rescued.’ 
Remaining options are grammatically & 
contextually incorrect & hence are not the correct 
choice. 
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